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What should come at place of the question mark (?) in the following number series ?

1 . 12  ,    19    ,  51    , 197  ,  ?  ,  5853  

(A)975 (B)977 (C)1204 (D)856 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

2 . 24 ,  5   , 2   , 1.5 , 1.5  , ?

(A)3 (B)4 (C)2.75 (D)1.5 (E)1.75
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What should come at place of the question mark (?) in the following number series ?

3. 1.6 ,  6.2 ,  20.6   ,  83.4 , ?  , 2501

(A)122.5 (B)424.8 (C)83.75 (D)417 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

4. 2721 , 4449 , 2252 , 4996  , ?  , 5717

4
(A)8371 (B)1621 (C)2116 (D)3871 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

5. 64 , 98  , 200  , 508  , ? , 5422 

(A)1525 (B)1515 (C)1540 (D)1550 (E)None of these
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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.31 :- I. x³ = 1331                                   II.  y³  =1728

Q.32 :- I. 2x2 + x − 1 =0                            II.  2y2 −3 y+1= 0

Q.33 :- I. x²+11x + 30 = 0 II. y²+ 12y +36= 0

Q.34 :- I. 6x²+ 51x+ 105=0 II. 2y2 +25y + 78 = 0

Q.35 :- I. 6x + 7y =52 II. 14x + 4y =35
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(A)55.2% (B)45.2% (C)35.2% (D)27.5% (E)32%

In a school number of students in 9th and 10th class is in the ratio 6:11. If 60% of total 
students in class 9th are boys and 52% of total students in class 10th are boys, then find total 
girls in both the class together is approximately what percentage of total students in both the 
classes?
9 व ींऔर 10 व ींकक्षा में ववद्यावथिय ींक सींख्या 6: 11 के अनुपात में है। यवि कक्षा 9 व ींमें कुल
ववद्यावथिय ींमें से 60% लड़के हैं और 10 व ींकक्षा में कुल ववद्यावथिय ीं के 52% लड़के हैं, त ि न ीं
कक्षाओीं में कुल लड़वकय ींक सींख्या, ि न ीं कक्षाओीं में कुल ववद्यावथिय ींका लगभग वकतना
प्रवतशत है?
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(A)96 (B)76 (C)86 (D) 46 (E)None of these

In an office some persons are officers and some are non-officer. The number of officers is 30. 
The average salary of officers is Rs.1040 and that of non-officers is Rs.400. If the average 
salary of entire staff in office (officers + Non officers) is Rs.500 per month, then what is the 
average of total number of employees (officers + Non - officers) in the office 
एक कायािलय में कुछ व्यक्ति अविकार हैं और कुछ गैर अविकार हैं। अविकाररय ींक सींख्या 30 
है। अविकाररय ींका औसत वेतन 1040 रुपये है और गैर अविकाररय ींका वेतन 400 रुपये है। यवि
कायािलय में सभ कमिचाररय ीं ( अविकाररय ीं+ गैर-अविकाररय ींका औसत वेतन 500 रुपये प्रवत
माह है, त कायािलय में कमिचाररय ीं (अविकाररय ीं+ गैर-अविकाररय ीं) क कुल सींख्या का औसत
क्या है?
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(A) 5 (B)6 (C)7 (D)8 (E)9

A work is started by a man and it is assumed that he will finish the work in 11 days if 
working alone. Each subsequent day a new man joined the work. In how many days the 
four times the original work will be completed, if after the 8th day from the starting of the 
work no new man will be further added?
एक आिम द्वारा एक काम शुरू वकया जाता है और यह माना जाता है वक अगर वह अकेले काम
करता है त वह 11 विन ीं में काम खत्म कर िेगा। प्रते्यक अगले विन एक नया आिम काम में
शावमल हुआ। मूल कायि का चार गुना वकतने विन ीं में पूरा ह गा, यवि कायि शुरू ह ने के 8वें विन के
बाि क ई नया आिम नह ींज ड़ा जाएगा?

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)30% (B)40% (C)50% (D) 60% (E)70%

Instead of normal weighing scale a shopkeeper used forged scale. He used 1.4 kg scale while 
buying and 840g scale while selling, what will his overall profit percentage, if in the end he 
offers 10% discount?
सामान्य तौल पैमाने के बजाय एक िुकानिार जाल पैमाने का उपय ग करता है। उन् ींने खर िते
समय 1.4 वकल से्कल का इसे्तमाल वकया और बेचते समय 840g पैमाने पर, उनका कुल लाभ
प्रवतशत क्या ह गा, अगर अींत में वह 10% छूट प्रिान करता है?
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(A)1 : 7 (B) 2: 7 (C)7 : 1 (D) 7 : 2 (E)None of these

There are 3 points P, Q and R in a straight line, such that point Q is equidistant from points 
P and R. A man can swim from point P to R downstream in 24 hours and from Q to P 
upstream in 16 hours. Find the ratio of speed of man in still water to speed of stream?
एक स ि रेखा में 3 वबींिु P, Q और R हैं, इस प्रकार वक वबींिु Q, वबींिु P और R से समान िूर पर है।
एक आिम वबींिु P से R अनुप्रवाह क ओर 24 घींटे में और Q से P उर्ध्िप्रवाह 16 घींटे में तैर सकता
है। शाींत जल में मनुष्य क गवत तथा िारा क गवत का अनुपात ज्ञात क वजए।

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)6.5 (B)7.2 (C)4.5 (D)5.2 (E)None of these

Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound 
interest at 20% per annum. She promised to make the payment after three years. But for 
the last year of loan tenure, the company increased the rate of interest by 25% from the 
previous one. Then the extra amount which she had to pay is what per cent of the amount of 
loan taken by her?
वशल्पा ने रुपये का ऋण वलया। कार खर िने के वलए 15,00,000। कीं पन प्रवत वर्ि 20% पर चक्रवृक्ति ब्याज वसूलत है।
उसने त न साल बाि भुगतान करने का वािा वकया। लेवकन ऋण कायिकाल के अींवतम वर्ि के वलए, कीं पन ने वपछले
एक से ब्याज िर क 25% बढा विया। विर उसे ज अवतररि रावश िेन थ , वह उसके द्वारा वलए गए ऋण क रावश का
वकतना प्रवतशत है?
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(A)24 (B)32 (C)30 (D) 36 (E)None of these

Amit, Bhanu, Chandu, and Dhoni are four friends. In which Bhanu and Chandu are 
brothers. 360 sweets are divided among them. Amit gets 200/3 % of Bhanu. Bhanu gets 40% 
of Chandu and Chandu gets 75% of Dhoni. Then what is the difference between the 
number of sweets received by brothers and the number of sweets received by others?
अवमत, भानु, चींिू, और ि न चार ि स्त हैं। वजसमें भानु और चींिू भाई हैं। 360 वमठाइय ींक आपस
में बाींटा गया है। अवमत क भानु का 200/3% वमलता है। भानु क चींिू का 40% और चींिू क ि न 
का 75% वमलता है। विर भाइय ीं द्वारा प्राप्त वमठाई क सींख्या और िूसर ीं द्वारा प्राप्त वमठाई क 
सींख्या में क्या अींतर है?
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(A)42000 (B)47500 (C)37800 (D)40500 (E)None of these

The cost price of an article is Rs. 42000. The shopkeeper offers a discount of 20% on it and 
loses at a rate half of the rate of discount rate. The marked price of the article is
एक वसु्त का क्रय मूल्य 42000 रुपये है। िुकानिार इस वसु्त पर 20% क छूट िेता है और छूट िर
क िर के आिा िर से हावन प्राप्त करता है । वसु्त का अींवकत मूल्य है
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1200 (B)3000 (C)3600 (D) 2400 (E)None of these

Ramu and Shyamu undertake to do a piece of work for Rs.7200. Ramu alone can do it in 8 
days and Shyamu alone can do it in 12 days. With the help of Raju they finish it in 4 days. 
Then the share of Raju (in Rupees) is -
रामू और श्यामू एक काम क 7200 रूपये में करने का ठेका लेते हैं | अकेले रामू इसे 8 विन ीं में कर
सकता है। और श्यामू अकेले इसे 12 विन ीं में कर सकता है । राजू क मिि से वे इसे 4 विन ीं में
खत्म कर िेते हैं। त राजू का वहस्सा (रुपय ींमें) है -
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(A)80/243 (B)1/2 (C)8/729 (D)160/729 (E)None of these

A bowler can hit the stump 1 out of 3 balls. If he bowled one over, what is the probability that 
he clean bowled thrice?
एक गेंिबाज के 3 गेंि ीं में से 1 गेंि स्टींप से टकरा सकत है। यवि वह एक ओवर िें कता है, त त न
बार क्ल न ब ल्ड करने क प्रावयकता क्या ह ग ?
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